C-43

P= 50,000 T= 2300C. NTOT=1.60E 1S DEBYE=3.89E-07 LAMBDA=2.14E Ol LNLMBD= 3.06
N1=7.2306G9E 1€ N2=1.54067E 18 N3=7.,13746E 18 N4=4.66141E 16 N5=1.75179E 11
8 CM-TAU SIG-1 SIG-2 DT-1 DF=2 LAM-1 LAM=-2
0. 0.00E-01 2.00E 02 0.00€E-01 1.40E-06 0.00E-01 5.87E 01 N.00E-01
5(C. =5.SCE-C4 2.00E 02 2.00E-01 1.40E-06 2.14E-09 5.87E 01 4.57E-02
1¢C0. =-1.,18€E-C3 2.0CE 02 3.99E-01 1. 40E-06 4,28E-09 5.87E 01 9.14F-02
25C0. =2.S5E=03 2.0CE 02 9.98E-01 1.40E-06 1.07E-08 5.87E 01 2.28E-91
5000. =-5.SCE-C3 2.00E 02 2.00E 00 1.40E-06 2.14E-08 5.87E 01 4.57E-01
7500. -8.84E-C3 2.00E 02 2.99E 00 1.40E-06 3.21E-08 5.86E 01 6.85E-01
1C5C0. =-1.18E-02 2.COE 02 3.99E 00 1.40E-06 4.28E-08 5.86E 01 9.13E-01
25000, =2.SEE-C2 1.96E 02 9.95E 00 1.39E-06 1.07E-07 5.86E 01 2.28E 00
50(C0. =5.90E-02 1.S7E 02 1.S7E 01 1.37E-06 2.11E-07 5.83E 01 4.53F 20
1600C0. =-1.18E-C1 1.91E 02 3.81lE 01 1.29E-06 4,02E-07 5.71E 01 B.87E 00
150000, =-1.77E-01 1.82E 02 5.42E O1 1.18E-06 5.60E-07 5.54E 01 1.28E Ol
P= 50,000 T= 240G0. NTOT=1.53E 19 DEBYE=4.00E-07 LAMBDA=2.30E Ol LNLMBD= 3.14
N1=7.13494E 1€ N2=1.10622E 18 N3=6.96401E 18 N4=8.546T6F 16 N5=7.93735E 11
B CM-TAU S16-1 SIG-2 DT-1 DT-2 LAM-1 LAM-2
0. 0.00E-C1 2.C8E 02 0.CCE-O1 1.54FE-06 0.00E-01 6.38E 01 0.0CE-01
500. =6.18E-04 2.08E 02 2.20E-01 1.54E-06 2.49E-09 6.38c 01 5.28E-02
10C0. =1.24E-03 2.08E 02 4.40E-01 1.54E-06 4.,98E-09 6.328E 01 1.06E-01
2500. =-3.C9E-03 2.08E 0z 1.10E 00 1.54E-06 1.24E-08 6.38E 01 2.64E-01
50(0. =-6.18E-C3 2.08E 22 2.20E 00 1.54E-06 2.49E-08 6.38E 01 5.28E-01
7500. =-9.27E-02 2.CBE 0z 3.30E 00 1.54E-06 3.73E-08 6.,38E 01 7.92E-01
10000. =-1.24E-02 2.08E 02 4.39F Q00 1.54E-06 4,98E-08 6.38E 01 1.06F 00
25000, =-3.0SE-02 2.07E 02 1l.10E 01 1.53E-06 1.24E-07 6.37E 01 2.63E 00
50000. =-6.18E-02 2.05E 02 2.17E 01 1. 50E-06 2.45E-07 6.34E 01 5.24E 00
1000C0. =-1.24E-C1 1.98E 02 4.18E 01 1.41E-06 4.64E-07 6.20E 01 1.02E 01
150000. =-1.E5E-C1 1.88E 02 5.90E 01 1.27E-06 6.,41E-07 5.99E 01 1.47E 01
F= 50.000 T= 25000. NTOT=1.47E 19 DEBYE=4.12E-07 LAMBDA=2.47E Ol LNLMBD= 3,21
N1=7.00823E 1€ N2=8.10G74E 17 N3=6.7TL137E 18 N4=1.48425E 17 N5=3.19865EF 12
B CM-TAL SI1G-1 SIG-2 DT-1 DT-2 LAM-1 LAM-2
Q. 0.CCE-C1 2.15E 02 0.CO0E-01 1. 67E-06 0.00E-01 6.90E 01 92.00E-0O1
500. =-6.46E-04 2.15E 02 2.40E-01 1.67E-06 2.86E-09 6.90E 01 6.724E-C2
1000. =-1.29E-C2 2.15E 02 4.79E-01 1.67E-06 5.7T2E-09 6.90E 01 1.21E-01
2500. =3.22E-C3 2.15E 02 1.20E 00 1. 6TE-06 1.43E-08 6.90E 01 3.02E-01
5000. =-6.4€E-C3 2.15E 02 2.40E GO 1.67E-06 2.86E-08 6.90E 01 6.04E-01
7500. =-9.6S8E-03 2.15E 02 3.59E 00 1.67E-06 4.296-08 6.89F 01 9.06E-01
10000. =-1.29E-02 2.15E 02 4.79E CO 1.67E-06 5.T1E-08 6.89E 01 1.21E 00
25000. =-3.23E-C2 2.14E 02 1.19E 01 1.66E-06 1.42E-07 6.88E 01 3.01E 0O
50000. =-6.46E-C2 2.12E 02 2.36E 01 1. 63E-06 2.80E-07 6.84E 01 5.99E 00
1€C0C0. =-1.2GE-Cl 2.04E 02 4.53E 01 1.52E-06 5.29E-07 6.67E 01 1.16E 01
150000. =1.G64E=C1 1.92E 0Z 6.30E 01 1.35E-06 T.23E-07 6.42E Ol 1.67E 01
P= 50.000 T= 26000. NTOT=1.41FE 19 DEBYE=4.24E-07 LAMBDA=2.64E 01 LNLMBD= 3.27
N1=6.87670E 18 N2=6.C5752E 17 N3=6.38724E 18 N4=2.44717E 17 N5=1.15559E 13
8 CM-TAU SIG-1 SIG-2 DT-1 DT-2 LAM=-1 LAM-2
J. 0.CCE-C1 2.20E 02 0.CO0E-O1 1.80E-06 0.00E-01 7.40E 01 0.00E-01
500, =-6.72E-C4 2.20E 02 2.58E-01 1.80E-06 3.23E-09 T7.40E 01 6.84E-02
1000. =-1.34E-C3 2.20E 02 5.15E-01 1.80E-06 6.47E-09 7.40E 01 1.37E-01
2500. =-3.36E-C3 2.20E 02 1.29E 00 1.80E-06 1.62E-08 7.40E 01 3.42E-01
5000. =-6.72E-03 2.20E 02 2.58E 00 1.80E-06 3.23E-08 7.40E 01 6.84E-01
75€0. -1.01E-C2 2.20E 02 3.86E 00 1.80E-06 4.85E-08 T7.40E 01 1.03E 00
10000. =-1.24E-C2 2.2CE 0Z 5.15E 00 1.80E-06 6.46E-08 T.40E 01 1.37E 00
25000. =-3.36E-02 2.20E 02 1.28E 01 1. 79E-06 1.61E-07 7.38E 01 3.41E 00
500C0. =-6.T2E-02 <2.17E 02 2.54E 01 1. 75E=06 3.16E-07 7T.33E 01 6.77E 00
100000. =-1.34E-01 2.08E 02 4.84E Ol 1,62E-06 5493E-07 7T.13E 01 1.31E 01
150000. -2.01E-Cl 1.S5E 02 6.76E Ol 1.43E-06 8.05E-07 6.83E 01 1.88E 01




P= 100.000 T=

3000.

C-44
NTOT=2.45E 20 DEBYE=5.,01E-02 LAMBDA=3.59E 05 LNLMBD=12.79

N1=5.7C265E C7 N2=2.44650E 20 N3=5.70265E O7 N

8
0.
500.
1000.
25C0.
5000.
75C0.
10000.
25000.
£00CG.
100000.
1500CQ0.

P= 100.000 T=

OM-TAU S1G=1

0.C0E-01 5.96E-08
-1.C7E-02 5.G4E-C8
-2.14E-02 5,.,88E-08
-5.36E-02 5.48E-08
-1.C7E-C1 4,50E-08
-1.61E-01 3.665'08
=-2+14E-01 3,17E-08
-5.36E-01 1.34E-08
-1.C7E CO 5.,60E-09
=214F 00 2532E=U9
=3s21E CO 1.28E~09

4000.

SIG-2
0.00E-01
3.30E-09
6.51E-09
1.49E-08
2.31E-08
2.57E-C8
2.58E-08
1.92E-08
1.25E-08
T.49E-09
5.40E-09

D=1
-9+12E=11
-9.08E-17
-8,94E-17
-8.09E-17
-6.,07E-17
4.2 TE=117
=3.54E=17
-8+ 13E~18

1.82E-18

2.96E-18
2+12E=18

N1=1,27314E 11 N2=1.€3487E 20 N3=1.27314E 11 N

B
0.
500.
1000.
2500.
50C0.
7500.
1€C0C0.
25000.
5060C.
100000.
1500C0.

P= 100.000 T=
N1=1.32062E 12

B
0.
5C0.
1600.
2500.
50C0.
7500.
100¢C0.
25000.
500C0.
16GCCO.
150000.

P= 100.000 T=

CM=-TAL SI6-1
0.00E-C1 1.27E-04
‘8-32E-03 1.26E-04
-1.,66E-C2 1.24E-04
~4.16E-02 1.12E-04
-8.32E-02 8.75E’05
=~1+25E=01 7T.14E-=05
-1.66E-01 6.37E-05
-4.1€E~-Cl1 2.57E-0%
-8.32E-01 1.28E-05
-1.6€6E CC 5.60E-C¢
-2.4SE 00 3.29E-06
£GC0.

SIG-2
0.00E-01
8.41E-06
1.65E-05
3.59E-05
5.04E-C5
5.23E-05
5.04E-05
3+ 72E=€C>
2.56E-05
1.56E-C5
1.14E-05

§16=2
0.00E-01
B8.4TE-04
1.64E-03
3.42E-03
4.56E-03
4|695-03
4.,52E-03
3,32E=03
2.46E-03
1.53€E-03
1.14E-03

Diz1
-3.04E-13
=3.,02E=13
=2:95E=13
=2.57E-13
-1.80E-13
=15 21E=13
-1.04E-13
=3.21E=14

8.87TE-16
8.01E-15
6.54E-15

DT-1
-3.86E'11
=3+82E=11
=3eT2E=11
=3, ktex 11
=2+.19E=11
=1ls37E=11
=1s23E=11
-4.94E—12
=5.01E=13

8.44E-13
8. 02E-13

N1=2.95211E 14 N2=1.22324E 20 N3=2.95211lE 14 N

B
Q.
5C0.
1000.
2500.
50C0.
7500.
1C000.
25000.
500C0.
1000C0.
150000.

Ch-TAL  SIG-1
0.00E-C1 1.19E-02
-6+.52E-C3 1.18E-02
=)286=02 1lal6E=02
-3.46E-02 1.03E-02
-6.52E-C2 8.01E-03
-1.04E~-C1 6.34E-02
-1.38E-01 5.83E-03
=3 s46E=01 3+12E=02
-6.52E-01 1.40E-03
-1.38E 00 6.16E-04
-2.C8E CO 3,712E-04
€00C.

CM-TAL SIG-1

0.00E-C1 2.04E-01
-5.96E-03 2.03E-01
-1.19E-C2 2.01E-01
-2.98E-02 1.86E-01
=-5.,56E~-02 1.55E-01
-B.55E-C2 1.19E-01
-1.19€-01 1.12E-01
'2.985-01 6-97E-02
-5.56E-C1 3.35E-02
-1.19E CO 1.47E-02
-1.79E 00 8.S3E-03

SI1G-2
0.00E-01
1.11E-02
2.17E-02
4.80E‘02
7.08E-02
T.79E-02
T7.87E-02
6.04E-02
5.03E-02
3.26E-02
2.45E-02

DT-1
~Ts12E=10
-T.09E-10
-6+99E-10
-6.42E-10
-5.10E-10
-3,04E-10
-2.83E-10
-1044E-10
-2,99€E=11

1.60E-11
1.91t=T1

D=2

0.00E-01
-6.53E-18
=1.29E~17
=2+<91E~=17
~4.37E-17
=4.6TE~-17
=4.48E-17
=2s61E=1T
=1.39E=11
-5.,02E~-18
-=2.36E-18

DT-2

0. 00E-01
=2.56E-14
-5.00E~-14
=3-08E=13
-1046E-13
-1.46E-13
=1e39E=13
~T.44E~-14
~4.37E-14
-1.76E-14
=8eT1E=15

DT-2

0.00E-01
-3049E-12
=6.75E-12
=1.39E=11
-1.79E-11
=1 T 6E=11
-1.63E-11
=8+50E~-12
=5 81E=-12
-2.48E-12
=Le29E=12

DT-2

OQOOE-Ol
-4.50E-11
-8.85E-11
-2.00E-10
=3e03E=10
=3.34E-10
=3+-33E~10
-1.86E-10
=1.42E-10
-bog)E-ll
=S re =]

LAM-1
9.42E-19
9.41lE-10
9.37E-10
S.16E-10
8.56E-10
7.88E-10
T+26E-10
5.07E-10
3.88E-10
2.10E-10
1.28E-10

LAM-1
2.495-06
2.49E-06
2+48E-06
2+41E-06
2.24E-06
2.07E-06
1.91E-06
1.30E-06
1.06E-06
6432E-07
3.98E-07

LAM-1
2-865—04
2.85E-04
2.85E-04
2.79E-04
2.61E-04
2.41E-04
2,24E-04
10475-04
1.26E~-04
Bs13E~-05
5.31E-05

LAM-1
4.89E-03
4.90E-03
4.92E-03
5.09E-03
5.39E-03
5.46E-03
5.35E-03
3.48E-03
3.08E-03
2.13e-03
1.45E-03

LAM=-2

0.00E-01
2-49E-11
4.95E-11
1.18E-10
2.06E-10
2.60E-10
2.91E=1D
3.30E-10
3.04E-10
2.58E-10
2.16E~-10

NTOT=1.83E 2C DEBYE=1.22E-03 LAMBDA=1.17E 04 LNLMBD= 9.37

LAM-2
0.00E-01
6.94E-08
1.37e-07
3.,20E-07
5.,37E=07
6.68E-07
7+46E-07
8.40E-07
T.82E-07
6.65E-07
5.87E-07

NTOT=1.47E 20 DEBYE=1.34E-04 LAMBDA=1.61FE 03 LNLYBD= 7.38
N2=1.4679CE 20 N3=1.32062E 13 N

LAM-2
0.00E-01
6.98E~-06
1.40E-05
3.42E-05
5.98E-05
7.48E-05
8.37E-05
90526-05
9.00€E-05
7.475-05
6.945-05

NTOT=1.22E 20 DEBYE=3.11E-05 LAMBDA=4.47E 02 LNLMBD= 6.10

LAM-2

0.00E-01
1.53€E-05
3 .06E-05
T.66E-05
1.75E-04
6.24E-04
1.03€E-03
2.00E-03
2.08E=-03
1.72€-03
1068E‘03



